
Dodge Ram TRX (2019-2024) Catalytic Converter Guard
Packing List / Installation Instructions

Tools Necessary:
● Rivet Nut (rivnut) Tool w/ 5/16” Mandrel
● Ratchet Wrench
● Drill
● ¼” Socket
● ⅝” Socket
● ¼” Drill Bit
● 17/32” Drill Bit
● Marker

Parts:
(1) Left TRX Guard
(1) Right TRX Guard

Hardware:
BAG 1 BAG 2
(4) M10-1.5 x 40mm Security Bolts (4) 5/16”-18 x 1” Security Bolts
(4) 10mm Spacers (2) 5/16” x 1.25” Washers
(4) M10 (⅜”) Washers (2) 5/16” Small Washers
(1) T45 Security Bit (5) 5/16”-18 Short Rivnuts (1 is extra)

(1) 3/16” Security Bit (button allen head)
BAG/ITEM 3
(1) Blue Threadlocker

Installation Instructions - Scan This QR Code:

Threaded Rivnut Help:

1


